Pre-Calculus A Name : th
Law of Sines Homework Date : Period :

Use the Law of Sines to solve each triangle. Round lengths and angle measures to the nearest tenth.
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7. A=1024°C=16.7°,a=21.6 8. A=243°C=54.6°c=2.68
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9. Because of prevailing winds, a tree grew so that it was leaning 4° from the vertical. At a point 35
meters from the tree, the angle of elevation to the top of the tree is 23° (see figure). Find the height h of
the tree.
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10. The map shows three earthquake centers for one week in California. How far apart were the
earthquake centers at points A and C? Round to the nearest tenth.
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11. A BMX track has a starting hill as shown in the diagram. What is the length of the hill, WY? Round to

the nearest tenth.
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Law of Sines — SSA Cases

Solve each triangle. Be sure to check for all solutions!

" 12.A=93.7°,b=15.2ft,a=39ft

snd31 b _ sin
/ 'jm'&q aq 52 ¢
A M ¢

14508 = 16.2610G3.] csing3 = 39sm b3y

5.2
meB - 2a.9°
m‘.( x bg\{‘
m<B=324°
m<C=6I4°
c=34.9 &
oo~ 2 %
14. A=21° a=35km, b=45km
snal_sin® _ sine
c 0:%% 9 us <
[V ¢ 35smnb=4Ssin2)
<4<
ot Snmd=0,460¢
mep=g7.4° 18 m-p=162.6
e = 1310 meC =4
¢nalz35smidLo com= 36SM6.Y
€13 cz 0.9
.
mep=a1y’
meCz 131.b°

=13

btz ¢
13.B=14.4° b=16.12,a=32.41
SINA . SN .Y . sn e

3aM1 612 <
1125 A =33.815m MY

LA =0, 150"
meh =30° lOFI m<A = .
e = 1356 meg = 16,6
¢ sl = 1642810 135.0 csinleY < 1oA28n1S.b
cz 45,4 ¢=\1M
mepa=I$D’
]
meC=15.6
c=\1.4
15.A=122.3°,a=1293 cm, b=1393 cm
4 smni223_ sin® _ <n¢

ma\'lqz n—qz \3q3 ©

C  193cn®=139bani22.3
sinB = 0.9100b

- 0

hove O mq,u'lwf

meCe -19

no olunoN
s

Ung \£ mel Sure,



